>
N = O & &2 A A
HE =3 2 3 L3 2statgn ~ 2t
2stat gt
22 =AEEdsgtrd
S2H=E AL CEREE)
5 - HRA(ZAH) - MRAY - BES Ol &4 JIEH HwsZ
falgeainly 20,216,559 21,749,444 N1,532,885
= 4,157,000 4,157,000 0
= 1,546,680 1,546,680 0
Al 14,512,879 16,045,764 N1,532,885
el rat SlESR N yoe k> o) WY KL ENEA 18,063,388 19,609,001 1,545,613
& 4,157,000 4,157,000 0
= 1,546,680 1,546,680 0
Al 12,359,708 13,905,321 1,545,613
So2E=EHHAIL XA 7,282,931 7,227,831 55,100
= 46,680 46,680 0
Al 7,236,251 7,181,151 55,100
FoBE=AMA XA 1,373,217 1,388,117 14,900
201 Zet2d| 74,767 88,817 A14,050
01 AtR2eltl 74,767 88,817 14,050
O232E= AIHFE LBt=ZH
1,710,000& 1,710 1,800 A90
O8I 2= 63,140,000 63,140 77,000 13,860
O=H dEXE Sl 1,900,000& 1,900 2,000 A100
203 ZRF=&H 16,150 17,000 A850
03 AIZ=AH2=AH| 16,150 17,000 AB50
OAHZ=THR=ZH| 16, 150,000& 16,150 17,000 A850
st=pigtH AN ER X3 4,942,601 4,842,601 100,000
307 212told 500,000 400,000 100,000
04 QIZFHAIE X 500,000 400,000 100,000
OMNX = MestHE (48 ®)
200,000, 000& 200,000 100,000 100,000
SEINSHOFLIHIOIEHAEIH 570,000 600,000 230,000
307 2I2told 570,000 600,000 /30,000
04 QIZFAAIE X 570,000 600,000 230,000
ORI MEM ohLItiold HAEIY
570,000,000 570,000 600,000 230,000
SR EA AL X 5,004,750 7,005,000 /2,000,250
= 2,000,000 2,000,000 0
== 1,500,000 1,500,000 0
Al 1,504,750 3,505,000 22,000,250
FHREsAAL 5,004,750 7,005,000 /2,000,250
= 2,000,000 2,000,000 0
< 1,500,000 1,500,000 0
Al 1,504,750 3,505,000 /2,000,250
201 Zet2E| 4,750 5,000 A250
01 AtR2eltl 4,750 5,000 2250
ORMREEAAT FX 4,750,000 4,750 5,000 A250




SN 2sheD
B 2oBEXAABESI|BIEY
Gl RESYSHAAL N (S5 &2
SN BB SA(S) - MBAY - BES 04l &b ot plE-E HlRE2
307 Q20| 5,000,000 7,000,000 2,000,000
3 2,000,000 2,000,000 0
= 1,500,000 1,500,000 0
Al 1,500,000 3,500,000 2,000,000
04 BIRIBHAIE Z 5,000,000 7,000,000 2,000,000
ORHMLEHSSIUAT Iz 5,000,000,0002 5,000,000 7,000,000 12,000,000
= 2,000,000 2,000,000 0
= 1,500,000 1,500,000 0
Al 1,500,000 3,500,000 2,000,000
SHIMBELAL SR X2 1,646,207 1,246,670 399,537
orel Hat A 56,787 57,250 A463
201 Leregy] 43,787 4,250 A463
01 At 43,787 44,250 463
Oorel g3t Aol me Aldl 1,187,00024 1,187 1,250 ~63
OYAD| KXIZ2IH| 5,700,00024 5,700 6,000 A300
OMAIR B 1,900,00024 1,900 2,000 A100
SHIMBEIAE SEHA 1,516,520 1,116,520 400,000
307 Q20| 1,516,520 1,116,520 400,000
04 BIRIBHAIE Z 1,516,520 1,116,520 400,000
ORI145] SH2RTEIASISSH (LF)
1,516,520,00024 1,516,520 1,116,520 400,000
AASSIER Bl L K 1,558,647 1,553,547 5,100
Faesien 22l 1,404,147 1,408,547 600
AMLSIEX AILRK L ZH| 1,404,147 1,403,547 600
201 Lereg] 21,800 21,200 600
01 A2l 4,800 4,200 600
ORANSHHRIE0 &M A+ 2,400 1,200 1,200
—JlEay 70,0002 62 43| 1,680 840 840
—En4g 30,0002 6% *43] 720 360 360
OYASBIER HEXNS $U2  2,400,0008 2,400 3,000 600
SR N 154,500 150,000 4,500
JASSIERR] Dl 154,500 150,000 4,500
201 Ypr2 | 10,600 10,000 600
01 At 10,600 10,000 600
OYASSIEX EHI| 2S AR MO AAS
= 700 0 700
-4y 70,0002 %7 490 0 490
—Zn4g 30,0002 +72 210 0 210
OYASSIER e LB+ 9,900,008 9,900 10,000 A100
301 YetEa3 3,900 0 3,900
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U QNSO el W H
CHol: QMBS N SRE!
2A -3 - GA(ZA) - NRAEY - BLS NN Hns2
12 JIE2AE 3.900 0 3,900
OYMSSEN SHI| 22 NS HeH B2 Al
a3 3,900 0 3,900
—z24 1,000, 0002 1 1,000 0 1,000
24 70,0002 22 1,400 0 1,400
—&2 50,0002 +38] 1,500 0 1,500
BY AL (2P 50,574 53, 160 £2,586
olet 2| 3,990 4,200 A210
24| 3,990 4,200 ~210
203 P FTH| 3,990 4,200 A210
04 SASYLREI 3,990 4,200 A210
ORMSIYRET 3,990,002 3,990 4,200 ~210
L] 46,584 48,960 £2,376
ST 21,960 23,040 A1,080
201 Yere | 21,960 23,040 A1,080
01 AtR2r2ltl 21,960 23,040 ~1,080
LV EEPIEET 20,520 21,600 ~1,080
— e gt 10,260, 0002 10,260 0,800 A540
—S | 10,260, 0002 10,260 0,800 A540
24,624 25,920 A 1,206
o1l 24,624 25,920 A1,206
204l 24,624 25,920 A1,206
Ogexd 24,624,002 24,624 25,920 A1,29
T S5 360,214 350,000 10,214
360,214 350,000 10,214
JIE 10,214 0 10,214
BHe1 2| Bt 10,214 0 10,214
NEEEEETEE 10,214 0 10,214
OSHSA0ICIHE 29 8,474,002 8,475 0 8,475
OSHSA0ICIHHE A 1,738,3802 1,739 0 1,739




